Problem 1

Version 1242 °

69
1) 1242 °=— rotations
20

9
=3+— rotations
20

= 3.45 rotations

69-71

2) 6= ” radians =21.68 radians

inches =86.71 inches

138
3) AL =i

4) Sames as #3

138-71 . )
AL = inches =86.71 inches
53) LS in _ 69- 1 in
seconds 125 seconds
in
B2, T e—
seconds

5b) LS

5¢) LS

6a) AS

6b) AS

Jeet  23-m  feel

seconds 500 seconds
eel
~0.14 %
seconds
Seet 691 feet
minute 25  minute
eel
=8.67 f
minute
radians 69 radians
second 500 second
radians
=0).43
second
radians 207-n  radians
minute 25 minute
radians
= 26.01 ——
minute
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72) AS radians _ 68-nt radians ~42.73 radians
second 5  second second
; .
7b) LS ——— =544. 5 =1709.03 ——
second second
et {
70) LS~ —3700- 1 ~g545.13 L
minute minute
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Problem 1

Version 1020 °

17
1) 1020 °=— rotations
6

5
=2+; rotations

= 2.8333333 rotations

17-
- radians =17.8 radians

2) 6=

17-m

3)AL = inches =26.7 inches

4) Sames as #3

17-7 . ’
AL = 5 inches =26.7 inches

in 17- in
5a) LS =T
seconds 20 seconds
in
=2.67 ——
seconds

Jeet  17-m  feet

5b)LS
seconds 240 seconds

f
:0.22 __/éi-
seconds
t 17- eet
5gLs L _17'% _f
minuie 4  minute
eet
=13.35 f
minute
radians 17-n radians
6a) AS =
second 30 second
~1.78 radians
second
adi di.
6b) AS radians g radians
minute minute
~106.9] [odians
minute
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radians _18-m  radians radians

7a) AS =11.31 —
Second 5 second second
in ¥
7b) LS =36-1 =113.1 —=
second second
/i t
70) Ls L% _180-n =565.49 —L€
minute minute
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Problem 1

Version 822 °

1
1) 822 °=-£ rotations
60

17 .
=2+— rotations
60

= 2.2833333 rotations
137-m

2) 8= radians =14.35 radians

137-
%) AL =

inches =28.69 inches

4) Sames as #3

1377 . )
AL = inches =28.69 inches
5a) LS in _ 137w in
seconds 225  seconds
:1_9] —.—ln—
seconds

5b)LS Jeet _137-n feet

seconds 2700 seconds

eel
~0.16 —Ze€
seconds
1 137+ t
50 LS fee _ n fee
minute 45 minute
eet
=9,56 f
minute
radians 137'm  radians
6a) AS =
second 450 second
~0.96 radians
second
adian 274- radians
6b) AS radians _ i
minute 15 minute
~57.39 Jadians
minute
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radians _48-n  radians N radians

7a) AS 30.16
second 5 second second
7b)LS — = — <1927 ~603.19 — "
second second
4 4
70 Ls—L_ _960-n =3015.93 —L%€
minute minute
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Problem 1

Version 2872 °

1) 2872 °=32 rotations
45

44 .
=7+— rotations

= 7.9777778 rotations

18- ) ;
2 radians =50.13 radians

7
2) 8=

718-m

3) AL = inches =150.38 inches

4) Sames as #3

718-7 . :
AL = inches =150.38 inches
5a) LS in _ 718-n in
seconds 675 seconds
~3.34 ——
seconds

Jeet  359-m  feet

5b)LS
seconds 4050 seconds
t
~0.28 L%
seconds

Jeet  T18-m  feet

5c) LS ;
minute 135  minute
eet
=16.71 f
minute
radians 718-m  radians
6a) AS =
second 2025  second
radians
=]1.11
second
6b) AS radians =2872-'Jt radians
minute 135 minule
radians
=66.83 ———
minute
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7 radians _ 58-n radians ~36.44 radians

a)AS 3
second 5 second second
i )
7b)LS —— =348-1 =~1093.27 — "
second second

/4 /4
70 LS L2 19407 ~sageyy L
minute minute
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